Here we have a number of necessary resistors for a certain design.
These values can’t be purchased directly.

So we will convert these into standard resistor values with 5% tolerance.

We need both a table of 5% standard values and our color code.

Begin with the 481 Ω resistor.

Look at the first two digits and find the closest standard value.

47 is as close as we can get in this case.

So we say this is approximately equivalent to 470 Ω, which is 47x10^1.

So the first three bands will be yellow, violet, and brown. The 5% tolerance will require a gold band.

Let’s try it with 12.67 kΩ.

12 looks like a good value for the numerals, but 13 is even closer if we round up.

13K is 13*10^3 Ω.

Look to our color code chart and match up those three numbers with their colors.

This yields a brown, orange, orange, and gold resistor.

The smallest resistor, 34 Ω, is close to the standard 33Ω value.

33Ω is 33*10^0.

Our resistor will therefore be an orange, orange, black, and gold resistor.

Finally, the 735.2 kΩ resistor’s first two numerals are closest to 75.

Write the resistor’s zeroes out.

So our resistance is 75*10^4 Ω. This gives a resistor whose values are violet, green, yellow, and gold.

Note that you can calculate these standard formula values from the formula given above.

